
��������� �����	������ 
�������� 
������ ������� ������� ���

����������� ��		 �� 
������

 	
��
	 �� ����� ��

�


���� �������

�������� ��� �� �!!"

������	�
 �����	�
�� ���� ���� ��� ��
�
��� ���
�� 
� ����� ����� ����� ��� 
�������
�
�� ���� ��� 	���� ��� ��	���� ��� 
�������
�� �� ��� ��
�
��� ���
�� ���� ��� �� ���
�����	��� ���� ���� 
� �� �����	��� ��� ���� �� ��� ��
�
��� ���
��


� �#�$�������# �# ���� ��$��� %� �$� ���� �� �$��� � ���&� ���� �� � ���&� �#� � %��'&� ����
�� � %��'&� �#� �$ � ��#�(&� ���� �� � ��#�(&� �#� �# ����' )$���� $��)������&� *������
%� ��#����$ � ���&� ���� �# �$��$ �� �+���#� �(� ���� ��$��� �# �����& �#� � ��#�(&� ����
�# �$��$ �� �+���#� �(�� �# � &�#� ��$�, -������ �# � ��#��#���� ����& .�$ �(� /#�#���&
���� �(� ����$��� ���� �� ��#����$�� �� �(� �#��$��& �. ���� ∆ %(��( ���� �� 0�$� �� �(�
����& #��*�$ n �. ���� ���� �� �#/#��� �# �(� $���&�$��� ��#�����# �-�#�� �#� 1(�&&�)�2�3 
��#���243 �#� ��$��#253�, ��$ � ���&� %��'&� �#� ��#�(&� ���� �(� )�$�����$� �$�
��))���� �� *� ��� �� ∆ = 1/245, 1/52, 1/12 $��)������&� *���� �# �(� �����)���# �(��
�(��� �($�� ���� (��� � (�����#���� )$�)�$�� %(��( ��)�#�� �# �(� ���� �#��$��& �#&�,

�#���� �(� �����)���# ��� *� $����#�*&� �#� ��#��#��#�� .�$ �(��$�����& �#� ���)���6
���#�& ��)���� *�� )$������&&� %� (��� 7������#� �� .�&&�%�8 %(�� �� �(� ��9�$�#��� *��%��#
� ���&� ���� �#� � ��#�(&� ����: �$� �(�� ����&�$ �� ���� ��$���: �#� �$� �(��$ �#.�$�����#
���)&� )$�)�$���#�& �� �(� #��*�$� �. ����:

;� ��))��� �(�� � %��'&� ���� �#� � ��#�(&� ���� �# ����' )$���� �$� $���$��� �� �(�
�+�$����� ���� .$�� �(� ���&� ����, ��$ �+��)&� %� �$��� ��''����< ���&� ����' )$���� 
%(��( �� �(� ���� $�)$���#������ ����' ���$��� �# =�)�# .$�� =�#��$� �# �!!> �� 
����*�$
�# �!!? �� .�&&�%�8

Nikkei225 from 2006 to 2007
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Regular Pickout with every 5 days
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�$�� �(� �*��� �$�)(� %� ���&� $����#�0� �(�� *��( ����� �#������ �(� &��� �. �#.�$��6
���# ���)�$�� �� �(� �$���#�& ���� �#� �(� $�#��� ���� �� ���( *����$ �(�# �(� $���&�$
�#�, @�$� %� ��#����$ �(� $���&�$ ���� �#&�,

�# �(�� �$���&� %� ��#����$ �(� �#.�$�����# &��� *��%��# �(� �$���#�& ���� ��$��� �#� �(�
$���$����� �#�� �# � ���)&� ����� ����& �-$��'%�&& �#� 
����2�3 �#� ����2<3�, �� /$�� %�
��#����$�� �(�� �(��� �#.�$�����# �(��&� *� �7����&�#� �. s = 1 .�$ n = ms *�� �(� $���&�
%� �*���#�� %�� #�� �$��, �(�� ��)&��� �(�� �+�$����#� ���� .$�� �(� �$���#�& ��$��� ��'��
�(� �#.�$�����# &��� �#� ���&� #�� $�����$ �(� �#.�$�����# �# �(� �$���#�& ��$��� .$�� �#�
�# �(� �+�$����� ���� ���# �. %� �+�$����� �&& ���� �. �(� �$���#�& ��$���,
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� �#.�$�����# �# ����� ����& ;� ��#����$ �(� .�&&�%�#� AR(1) )$����� X = (Xt)t=0,1,... ,n8

Xt = φXt−1 + Zt, Zt
i.i.d.∼ N(0, σ2), X0 = x0, |φ| < 1.

��� θ = (φ, σ2) *� �(� )�$�����$ �# �(�� ����&, 	�#�� �(� ��#�����#�& ��#���� ����# xt−1 ��

f(xt|xt−1 ; θ) =
1√

2πσ2
exp

{
− (xt − φxt−1)2

2σ2

}
(t = 1, 2, . . . , n),

f(xt|xt−1, . . . , x1, x0 ; θ) = f(xt|xt−1 ; θ) (t = 1, 2, . . . , n)

�#� �(� �#����& ��&�� X0 = x0 �(� A��#� ��#���� �� $�)$���#��� *�

f(xn, xn−1, . . . , x1, x0 ; θ) =
n∏

t=1

f(xt|xt−1 ; θ).

�(�# �(� &��6&�'�&�(��� .�#����# �n(θ) ��

�n(θ) = −n

2
log(2πσ2) −

n∑
t=1

(xt − φxt−1)2

2σ2

�#� �(� ��$�������� �$�

∂�n(θ)
∂φ

=
1
σ2

n∑
t=1

xt−1(xt − φxt−1),

∂�n(θ)
∂σ2

= − n

2σ2
+

1
2σ4

n∑
t=1

(xt − φxt−1)2,

�� �(�� %� (��� �(� ��+���� &�'�&�(��� ��������$ ���
� θ̂ = (φ̂, σ̂2) �� .�&&�%�8

φ̂ =
∑n

t=1 xt−1xt∑n
t=1 x2

t−1

,

σ̂2 =
1
n

n∑
t=1

(xt − φ̂ xt−1)2 =
∑n

t=1 x2
t

∑n
t=1 x2

t−1 − (
∑n

t=1 xtxt−1)2

n
∑n

t=1 x2
t−1

.

�&�� �(� ����#� ��$�������� �$�

∂2�n(θ)
∂φ2

= − 1
σ2

n∑
t=1

x2
t−1,

∂2�n(θ)
∂φ∂σ2

= − 1
σ4

n∑
t=1

xt−1(xt − φxt−1),

∂2�n(θ)
∂σ4

=
n

2σ4
− 1

σ6

n∑
t=1

(xt − φxt−1)2.
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�/�"��$ � ��$ n ���� ��$��� %(��( �� ����$�*���� %��( ����� ����& �(� �+��� ���(�$
�#.�$�����# ���$�+ In(θ) ��

In(θ) = −E

(
∂2�n(θ)

∂φ2
∂2�n(θ)
∂φ∂σ2

∂2�n(θ)
∂φ∂σ2

∂2�n(θ)
∂σ4

)

=

⎛⎜⎝ n

1 − φ2
+

1
σ2

(
x2

0 −
σ2

1 − φ2

)
1 − φ2n

1 − φ2
0

0
n

2σ4

⎞⎟⎠
�#� �(� ����)����� .�$��&� �. �(� �#.�$�����# ������� *� n ��

lim
n→∞

1
n

In(θ) =
(

(1 − φ2)−1 0
0 (2σ4)−1

)
.

1$��.8 	�#�� Xt = φXt−1 + Zt = φtx0 +
∑t

j=1 φt−jZj (t = 1, . . . , n)  �(� �+)�������# �#�
��$��#�� �$�

E(Xt) = φt x0, V (Xt) = σ2
t∑

j=1

φ2(t−j) = σ2 1 − φ2t

1 − φ2

�#� �(� �+)�������# �. �7��$�� Xt ��

E(X2
t ) = σ2 1 − φ2t

1 − φ2
+ φ2t x2

0.

�#� �(� ����$��#�� ��

Cov(Xt, Xt−h) = σ2
t−h∑
j=1

φt−jφt−h−j = σ2 φh 1 − φ2(t−h)

1 − φ2
, (h = 1, 2, . . . , t − 1)

�#�

E(XtXt−h) = σ2 φh 1 − φ2(t−h)

1 − φ2
+ φ2t−hx2

0.

�$�� �(��� .�$��&�� �(� �+)�������#� �. �(� /$�� ��$�������� �. &��6&�'�&�(��� .�#����# �$�

E

(
∂�n(θ)

∂φ

)
=

1
σ2

E

(
n∑

t=1

Xt−1(Xt − φXt−1)

)

=
n∑

t=1

φ
1 − φ2(t−1)

1 − φ2
+
∑n

t=1 φ2t−1x2
0

σ2

−φ

n∑
t=1

1 − φ2(t−1)

1 − φ2
− φ

∑n
t=1 φ2(t−1)x2

0

σ2
= 0,

E

(
∂�n(θ)
∂σ2

)
= − n

2σ2
+

1
2σ4

E

(
n∑

t=1

(Xt − φXt−1)2
)

=
1

2σ2

(
−n +

n∑
t=1

1 − φ2

1 − φ2
−

n∑
t=1

φ2t

1 − φ2
+ φ2

n∑
t=1

φ2(t−1)

1 − φ2

)
= 0.
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;��( $��)��� �� �(� ����#� ��$�������� %� (���

E

(
−∂2�n(θ)

∂φ2

)
=

1
σ2

E

(
n∑

t=1

X2
t−1

)
=

n

1 − φ2
+

1
σ2

(
x2

0 −
σ2

1 − φ2

)
1 − φ2n

1 − φ2
,

E

(
−∂2�n(θ)

∂φ∂σ2

)
=

1
σ4

E

(
n∑

t=1

Xt−1(Xt − φXt−1)

)
= 0,

E

(
−∂2�n(θ)

∂σ4

)
= − n

2σ4
+

1
σ6

E

(
n∑

t=1

(Xt − φXt−1)2
)

=
n

2σ4
,

�� �(�� %� (��� �(� $�7��$�� $���&�, �

4 �#.�$�����# �# �+�$����� ��$��� .$�� ����� ����& ;� ��#����$ �(� �+�$����� ����
{xt1 , xt2 , . . . , xtm} (m < n) .$�� �(� �$���#�& ���� {x1, . . . , xn} %��( ����� ����& �#�
��&��&��� �(� �+��� �#.�$�����# ���$�+ %��( $��)��� �� �(� �+�$����� ����, �# .��� �(�$�
�+���� �%� %��� �� ��'� �(� �+�$����� ���� �(�� �� �� $�#��� �$ )$������#�� *�� �# �(��
�$���&� %� ��#����$ �(� )$������#�� �+�$����� ���� �#&�,

	�#�� Xt = φXt−1 + Zt = φtx0 +
∑t

j=1 φt−jZj (t = 1, . . . , n) .�$ tk > tk−1 %� (���

Xtk
= φtkx0 +

tk∑
j=1

φtk−jZj , Xtk−1 = φtk−1x0 +
tk−1∑
j=1

φtk−1−jZj ,

�#�

Xtk
= φtk−tk−1Xtk−1 +

tk∑
j=tk−1+1

φtk−jZj .

��� sk = tk − tk−1 .�$ � ��#��#��#� ��'�, �(�# ��#�� �(� ��#�����#�& �+)�������# �#�
��$��#�� �$�

E(Xtk
|Xtk−1) = φskXtk−1 , V (Xtk

|Xtk−1) = σ2 1 − φ2sk

1 − φ2
,

�(� ��#�����#�& ��#���� �� �*���#�� *�

f(xtk
|xtk−1 ; θ) =

√
1 − φ2√

2πσ2 (1 − φ2sk)
exp

{
− (xtk

− φsk xtk−1)
2(1 − φ2)

2σ2(1 − φ2sk)

}
,

�(� A��#� ��#���� �� f(xtm , xtm−1 , . . . , xt1 , x0 ; θ) =
∏m

k=1 f(xtk
|xtk−1 ; θ) �#� �(� &��6&�'�&�(���

.�#����# �m|n(θ) ��

�m|n(θ) = −1
2

m∑
k=1

log
(

2πσ2 1 − φ2sk

1 − φ2

)
−

m∑
k=1

(xtk
− φskxtk−1)

2(1 − φ2)
2σ2(1 − φ2sk)

.���
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�/�"��$ � ��$ �(� �+�$����� ���� ��$��� �(� �+��� ���(�$ �#.�$�����# ���$�+ ��

Im|n(θ) =
(

Iφ,φ Iφ,σ2

Iσ2,φ Iσ2,σ2

)
,

%(�$�

Iφ,φ =
2mφ2

(1 − φ2)2
+

m∑
k=1

s2
kφ2sk−2(1 − φ2)
σ2(1 − φ2sk )

(
σ2 1 − φ2tk−1

1 − φ2
+ φ2tk−1x2

0

)

+
m∑

k=1

(
(3φ2sk − 1)s2

kφ2sk−2

(1 − φ2sk)2
− 4skφ2sk

(1 − φ2sk )(1 − φ2)

)
,

Iσ2,φ =
mφ

σ2(1 − φ2)
−

m∑
k=1

skφ2sk−1

σ2(1 − φ2sk)
,

Iσ2,σ2 =
m

2σ4
.

1$��.8 ��$ �(� �7�����# ��� ��#��

∂

∂φ
log
(

1 − φ2sk

1 − φ2

)
=

−2skφ2sk−1

1 − φ2sk
− −2φ

1 − φ2
,

�(� ��$������� �. �(� /$�� ��$� �# �(� $��(� (�#� �. �(� �7�����# ��� ��

−1
2

m∑
k=1

∂

∂φ
log
(

1 − φ2sk

1 − φ2

)
=

m∑
k=1

skφ2sk−1

1 − φ2sk
− m φ

1 − φ2
.

�&�� ��#��

∂

∂φ
{(xtk

− φsk xtk−1)
2(1 − φ2)}

= −2 sk φsk−1 xtk−1(xtk
− φsk xtk−1) (1 − φ2) − 2 φ (xtk

− φsk xtk−1)
2,

�(� ��$������� �. �(� ����#� ��$� ��

− ∂

∂φ

m∑
k=1

(xtk
− φsk xtk−1)

2 (1 − φ2)
2 σ2 (1 − φ2sk )

=
m∑

k=1

(xtk
− φsk xtk−1)

σ2 (1 − φ2sk)2

×
(
sk φsk−1 (1 − φ2)(xtk−1 − φsk xk) + φ (xtk

− φsk xtk−1) (1 − φ2sk )
)
.

�(�$�.�$� �(� ��$������� �. �(� �7�����# ��� %��( $��)��� �� φ ��

∂

∂φ
�m|n(θ) =

m∑
k=1

skφ2sk−1

1 − φ2sk
− m φ

1 − φ2

+
m∑

k=1

(xtk
− φsk xtk−1)

σ2 (1 − φ2sk )2

×
(
sk φsk−1 (1 − φ2)(xtk−1 − φsk xtk

) + φ (xtk
− φsk xtk−1) (1 − φ2sk )

)
.
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�# �(� ��(�$ (�#� �(� ��$������� �. �(� �7�����# ��� %��( $��)��� �� σ2 ��

∂

∂σ2
�m|n(θ) = − m

2σ2
+

m∑
k=1

(xtk
− φskxtk−1)

2(1 − φ2)
2σ4(1 − φ2sk)

.

	�#�� V (Xtk
|Xtk−1) = E(X2

tk
|Xtk−1) − {E(Xtk

|Xtk−1)}2 %� (���

E
[
(Xtk

− φsk Xtk−1)(Xtk−1 − φskXtk
)
∣∣∣Xtk−1

]
= −φskV (Xtk

|Xtk−1),

�� �(�� �(� �+)�������#� �. �(� /$�� ��$�������� �$�

E

(
∂

∂φ
�m|n(θ)

)
=

m∑
k=1

skφ2sk−1

1 − φ2sk
− m φ

1 − φ2

+
m∑

k=1

E
[
(Xtk

− φskXtk−1)(Xtk−1 − φskXtk
)
∣∣∣Xtk−1

]
σ2 (1 − φ2sk)2

sk φsk−1 (1 − φ2)

+
m∑

k=1

V (Xtk
|Xtk−1)

σ2 (1 − φ2sk)2
φ (1 − φ2sk)

=
m∑

k=1

skφ2sk−1

1 − φ2sk
− m φ

1 − φ2
−

m∑
k=1

sk φ2sk−1

1 − φ2sk
+

m∑
k=1

φ

1 − φ2
= 0,

E

(
∂

∂σ2
�m|n(θ)

)
= − m

2σ2
+

m∑
k=1

V (Xtk
|Xtk−1)(1 − φ2)

2σ4(1 − φ2sk )
= − m

2σ2
+

m∑
k=1

1
2σ2

= 0.

	�#�� �(� ����#� ��$������� %��( $��)��� �� σ2 ��

∂2

∂σ4
�m|n(θ) =

m

2σ4
−

m∑
k=1

(xtk
− φsk xtk−1)

2(1 − φ2)
σ6(1 − φ2sk)

,

�(� (2, 2)6�&���#� Iσ2,σ2 ��

Iσ2,σ2 = − m

2σ4
+

m∑
k=1

1
σ4

=
m

2σ4
.

	�#�� �(� ����#� ��$������� %��( $��)��� �� σ2 �#� φ ��

∂2

∂σ2∂φ
�m|n(θ)

= −
m∑

k=1

(xtk
− φskxtk−1)skxtk−1φ

sk−1(1 − φ2)
σ4(1 − φ2sk)

−
m∑

k=1

φ(xtk
− φsk xtk−1)

2

σ4(1 − φ2sk)

+
m∑

k=1

(xtk
− φskxtk−1)

2(1 − φ2)skφ2sk−1

σ4(1 − φ2sk )2
,



�-2 �� !" #!$�%�&

�(� (2, 1)6�&���#� Iσ2,φ ��

Iσ2,φ =
mφ

σ2(1 − φ2)
−

m∑
k=1

skφ2sk−1

σ2(1 − φ2sk)
.

;� �����)��� �(� /$�� ��$������� �. �(� �7�����# ��� %��( $��)��� �� φ �� .�&&�%�8

∂

∂φ
�m|n(θ) = A − B + C �����.

�(�# �(� ��$�������� �. �(� )�$�� A,B �$�

∂

∂φ
A =

m∑
k=1

sk(2sk − 1)φ2sk−2 + skφ4sk−2

(1 − φ2sk)2
,

∂

∂φ
(−B) = −m(1 + φ2)

(1 − φ2)2
.

@�$� %� �����)��� �(� ��$������� �. �(� )�$� C �� .�&&�%�8

∂

∂φ
C =

m∑
k=1

1
σ2

{
C1

(1 − φ2sk)2
+

C2

(1 − φ2sk )4

}
�����,

%(�$�

C1 = −skφsk−1xtk−1{sk φsk−1 (1 − φ2)(xtk−1 − φsk xtk
) + φ (xtk

− φsk xtk−1) (1 − φ2sk)}
+(xtk

− φsk xtk−1 ){sk(sk − 1)φsk−2 (1 − φ2)(xtk−1 − φsk xtk
)

−2skφsk(xtk−1 − φsk xtk
) − s2

kφ2sk−2 (1 − φ2)xtk
}

+(xtk
− φsk xtk−1 ){(xtk

− φsk xtk−1)(1 − φ2sk) − skφskxtk−1(1 − φ2sk)

−2skφ2sk(xtk
− φsk xtk−1)},

C2 = 4sk(1 − φ2sk)φ2sk−1

×(xtk
− φsk xtk−1 ){sk φsk−1 (1 − φ2)(xtk−1 − φsk xtk

) + φ (xtk
− φsk xtk−1) (1 − φ2sk)}.

	�#��

E(Xtk−1 − φskXtk
|Xtk−1) = (1 − φ2sk)Xtk−1 , E(Xtk

− φskXtk−1 |Xtk−1) = 0,

%� (���

E(C1 |Xtk−1) = −s2
kφ2sk−2(1 − φ2)(1 − φ2sk )X2

tk−1

+{(1 − φ2sk) − sk(sk − 1)φ2sk−2(1 − φ2)}V (Xtk
|Xtk−1),

E(C2 |Xtk−1) = 4sk(1 − φ2sk)φ2sk−1{−skφ2sk−1(1 − φ2) + φ(1 − φ2sk )}V (Xtk
|Xtk−1),

�� �(�� �� (�&�� �(��{
E(C1 |Xtk−1)
(1 − φ2sk)2

+
E(C2 |Xtk−1)
(1 − φ2sk)4

}
= −s2

kφ2sk−2(1 − φ2)X2
tk−1

1 − φ2sk

− σ2

(1 − φ2sk)2 (1 − φ2)

(
sk(sk − 1)φ2sk−2(1 − φ2)(1 − φ2sk)

−(1 − φ2sk)2 + 4s2
kφ4sk−2(1 − φ2) − 4skφ2sk(1 − φ2sk )

)
.
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�(�$�.�$� %� (��� �(� (1, 1)6�&���#� Iφ,φ �� .�&&�%�8

Iφ,φ =
2mφ2

(1 − φ2)2
+

m∑
k=1

s2
kφ2sk−2(1 − φ2)
σ2(1 − φ2sk)

(
σ2 1 − φ2tk−1

1 − φ2
+ φ2tk−1x2

0

)

+
m∑

k=1

(
(3φ2sk − 1)s2

kφ2sk−2

(1 − φ2sk)2
− 4skφ2sk

(1 − φ2sk)(1 − φ2)

)
.

�

�"�"))��4 � ������ �(�� sk = xtk
− xtk−1 �� � ��#���#� s, �(�# n = ms �#� �(� �+���

�#.�$�����# ��

Im|n(θ) =
(

Iφ,φ Iφ,σ2

Iσ2,φ Iσ2,σ2

)
,

%(�$�

Iφ,φ =
2mφ2

(1 − φ2)2
+

s2φ2s−2(1 − φ2)
σ2(1 − φ2s)

(
mσ2

1 − φ2
+
(
x2

0 −
σ2

1 − φ2

)1 − φ2n

1 − φ2s

)
+m

(
(3φ2s − 1)s2φ2s−2

(1 − φ2s)2
− 4sφ2s

(1 − φ2s)(1 − φ2)

)
,

Iσ2,φ =
m

σ2

(
φ

1 − φ2
− s φ2s−1

1 − φ2s

)
,

Iσ2,σ2 =
m

2σ4
.

;(�# s = 1 �� (�&�� �(��

Iφ,φ =
1
σ2

(
x2

0 −
σ2

1 − φ2

)1 − φ2n

1 − φ2
, Iσ2,φ = 0, Iσ2,σ2 =

n

2σ4
.

1$��.8 �. sk �� � ��#���#� s �(�# n = ms, -� �(��$�� � �(� (2, 1)6�&���#� Iσ2,φ ��

Iσ2,φ =
m

σ2

(
φ

1 − φ2
− s φ2s−1

1 − φ2s

)
.

�� �� �*����� �(�� �(�� �7��&� 0 �. s = 1, ���� �(�� Iσ2,φ > 0 .�$ φ > 0 �#� Iσ2,φ < 0 .�$
φ < 0 �#&��� s = 1,

�&�� �(� (1, 1)6�&���#� Iφ,φ ��

Iφ,φ =
2mφ2

(1 − φ2)2
+

s2φ2s−2(1 − φ2)
σ2(1 − φ2s)

(
mσ2

1 − φ2
+
(
x2

0 −
σ2

1 − φ2

)1 − φ2n

1 − φ2s

)
+m

(
(3φ2s − 1)s2φ2s−2

(1 − φ2s)2
− 4sφ2s

(1 − φ2s)(1 − φ2)

)
�#� %(�# s = 1 %� (���

Iφ,φ =
1
σ2

(
x2

0 −
σ2

1 − φ2

)1 − φ2n

1 − φ2
.

�
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�(� ���)�$���# *��%��# �(��$�� � �#� ��$�&&�$� � %��&� ��'� �� �&��$ �(�� �(�
��$����$� �. �#.�$�����# �� �(�#��� *� �+�$����#� ���� .$�� �(� �$���#�& ���� ��$��� �#�
�(�� %� ���&� #�� $����� �(� �+�$����� �#.�$�����# �� �(� �$���#�& �#� ���# �. s = 1 �(��
�� �(� �#.�$�����# &��� �� #�� � 0�$� ���$�+8

In(θ) − Im|n(θ) =

( n

1 − φ2
0

0 0

)
,

�� �(�� �(� &��� ������� *� n �� #�� � 0�$� ���$�+ ����)������&&�8

lim
n→∞

1
n

(
In(θ) − Im|n(θ)

)
=

⎛⎝ 1
1 − φ2

0

0 0

⎞⎠ �= 0.

5 ��#�&����# -���� �# ����� ����& %� �+���#�� �(� �#.�$�����# �# � ���&� ���� �#� �(�
�#� �# �(� %��'&� �$ ��#�(&� ����, �� /$�� %� ��#����$�� �(�� �(��� �#.�$�����# �(��&� *�
�7����&�#� �. s = 1 .�$ n = ms *�� �(� $���&� %� �*���#�� %�� #�� �$��, �(�� ��)&��� �(��
�+�$����#� ���� .$�� �(� �$���#�& ��$��� ��'�� �(� �#.�$�����# &��� �#� ���&� #�� $�����$
�(� �#.�$�����# �# �(� �$���#�& ��$��� .$�� �#� �# �(� �+�$����� ���� ���# �. %� �+�$����� �&&
���� �. �(� �$���#�& ��$���, �(�� ��� *� � ���#��$�+��)&� .�$ �(�� �(� ��9�$�#��� *��%��#
� ���&� ���� �#� �(� %��'&� �$ ��#�(&� ���� ��)�#� �#&� �# �(� #��*�$ �. �*��$�����#�,

;� ������� �(� ���� �. �(� $�#��� �+�$����� ���� ��$��� *�� %� %�&& �#��������� �(�� �#
.���$� *������ �� $�&���� �� � '�#� �. *�����$�) �$ � $�#��� ���)&�#� %��( $��)��� �� ����
��$���,

����������
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